EASERATF Xk 8 §+3y+2y=2 [C:»0)=0, (0)=0
(1) 1% %5k : 5548 7 1 A (homogeneous solution) » A% 4% A% (particular solution)

10%

(2) %Mk & R S & O #2 A (state equation) + F-1E M 48 L % A 1b(similar

diagonalization) 15%
(3) 4t X #4434 k(Laplace Transform) 15%

2. f(t)={(]) 7<i<3 f+2)=f(1) —00 < <0

1<t<ly
FR W ()2 F ¥ m$(Fourier series)  15%
3. 5k¢ sinzdz,  ciff=1  10%

4. {738 81 A & 32 (Divergence Theorem)? 10%
(HHRE L BeEFTE 2 BRylks 3 HEEH)
5.(a)f sk x A E R F i 4] £2 X {goveming equation) 10%
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(O)3h A g B R E B b3 4] #2 X (governing equation) 10%

(Hint: v(t)_q(t))
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